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The last integral equation can be solved numerically for (T > 0 K) to find the roots (Bp) and hence the chemical

potential L. At T=0K, u = & = 11.668 eV for Aluminum (see table 6.1)
M

To find the roots of the integral, use the online WoIframAIpha (https://www. wolframalpha com/) as shown

below

i) T=300 K, The L.H.S of equation (1) reads 6392 and letting b = Bu, we obtain
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ii) T=10,000 K, The L.H.S of equation (1) reads 33.21 and letting b = Bu, we obtain
WolframAl;
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An attemnpt was made 1o fix mismatched parentheses, brackets, of braces.
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